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Instructions : All gquestions are compulsory There are total 26 questions in this
question paper
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This question paper has five secions-Section-A, Section-B, Section-C,

Section-D and Section-E.

(iii) @UE-A G A gvA &, WS 11 3 B @ve-a 4 v yE ¥, oS &
2 3% &1 @UE-9 H aNE WA ¥, TS & 3 3% €1 @Ue-q H 4 3% &
THE ARG A A T, TRF F 5 sF ¥
Section-A contains five questions of 1 mark cach. Section-B contains
five questions of 2 marks cach. Section-C contains twelve questions
of 3 marks each. Section-D contains one question of 4 marks and

Section-E contains three questions of § marks each.

m—eamﬂ—s%wmifaiaﬁaﬁﬁm%muﬁtr

Intemal clipices-are given in all questions of Section—D and Section-E.
P.T.0.

(iv)
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Farga Tova seqel 1 1w wen fervivr g Ferfiae [Vat¥a=1)

Write SI unit and dimensional formula of electric dipole moment.

%R & faem - rawr w1 ¥ fgdrg frg 91 faf@u)

Write Faraday’s second law of electromagnetic induction.
Waﬁfsﬁﬂzuﬁmﬂﬁmﬁsﬁmwmﬁn@mﬂﬁﬁﬂzﬁnﬁ%
19 F1 g R A fom w2

What will pe the effect on fringe width in Young’s double-slit
experiment, if the distance between slit and screen increased?
mmmmﬁmm- T YHIT TARIA 1 TN W N
G9E g2 ?

What will be the ctiect on number of photoelectrons as you increase
the intensity of incident light?

afe IS g=es o g wfe faemdt wmu, @ ffe gHR =
HEATH T4 ?

Which type of semiconductor will be formed, if trivalent impurity is

added to purc semiconductor?
@ug-q/ (Section-B)
gl & fava &1 g7 391 WA A1d@ 7 ST TS Hmoneds fasa @ el

AR |

Why the potential of carth 1s considered to be zero? Explain the

meaning of positive and negative potential.

p ¥faivaral ard ar # @it I9H aEn [ S TR § s

wfaQyaar g a1 IuE 98T 2
A wire of resistivity p is stretched to three times its length. What will

be the effect on its resistivity ?
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By connecting the electrodes of a cell 1o a resistance of 20 ohms, its
potential difference remaing from 50 volts to 40 volts. Calculate the

internal resistance of the cell.

feraret e fQ @ved & 2 saa fae smavas wfady fafae (98 gh) 1 [1+1=2)

What s destructive interference” Write its essential conditions (any two).

FN g2 0T 1 fraq amwm § i wamo goyg 2 s dfag [2]

Can at possible the audio frequency waves be transmitted through

free space? Give reason.

WUg-J / (Section-()
A2 Bq &) W | fF an & vfdny 3@ F6@ F fafa & qofF
frafafea it F smm w #ifau [1+2=3]
(i) faeqa aftag =1 ==
(if) HR F1 TGl
Describe an cxperiment to determine the resistance of a wire by
meter bridge on the following points :
(i) Circuit diagram

() Derivation of formula

Wﬂﬁwﬁsﬁmﬁﬁ?mquﬁﬂmmm}{.mmmm

V aen qfomdt draar / o wea wae wited Hife [142=3]

: e - . relationshi tween horizontal
What is angle of dip? Establish the relationship betweet

orti / sultant
component H of the earth, the vertical component } and rest

intensity / at a place.
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What is power in a.c. circuit? Obtain a1 CXpreggia. for aver
age

power in a complete cycle of a.c. circuit.

Xt i ferd ) o2 XTI ) ey

fertram
[1+2=3)
Who discovered X-rays? Write two properties angd w, importa
. nt
uses of X-rays.
yerifo A 0 ¥ 2 T 3eAm fafae (FR W 1+2=3)

What is optical fiber? Write its uses (any four)

& IvarEae S8 & e gl # A faemd 20 #m AR A w
WY 8 F AGEETF 1.5 @), 9 F 1 WFHE g4 79 i (3
A double-concave lens has radii of curvature 20 cm. If refractive

index of lens with respect to air is 1.5, then calculate the focal length

of the lens.

R 6000 A ards % WM gty F A 9.92 % Tadh ol AU

4000 A okl & W Waln 5 5 et €1 2 8
If the energy of a photon corresponding to wavelength 6000 A

15 992 x |0 !9 joule, then what will be the energy of the photon
corresponding to wavﬂmm 4000 I
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UYA-18  EIEEYES SO F FEEI avi A
(i) Findsd 9@ BT+ gy fafan o
(i) mﬂmaﬂ?ﬁﬁmm.‘?ﬂmmmt?

v 3 ey a3 T B (1)
tmiﬂ?hﬁ,mmmmﬂﬁmt’ [
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In the Lyman series of hydrogen atom
(1 Wnte the formula to find wavelength,
(71y What is the range of maximum and minimum wavelength?
(1iiy In which region of the spectrum does this range fali?
UvA-19  =rws faEves # %0 UF IR0 T SUEAny | (14223
What 1s nuclear fission " Explan with an example.
g-20 frewd A FEa ¥ 7 oA foewm ¥ fawqm vfmw @ fax vd o
#F mma Favn 3 & Eva TE 3 [l+2=i]
What 1s rectifier” Draw a diagram of electric circuit of half-wave
rectufier and draw graph for input voltage and output voltage with time.
uya-21 fEx 9 ¥ 3@ Y zm sifea AAffas 12 1 999 $1f90 a9 gega |l
e 3)
A
o—2
8 firta
Idenufy the logic gates denoted by X and Y in the figure and write
the truth table
A
Z
B Output
ww-22 iR F ¢ WRew form v ¥ feag otgem 31 smavase ®@l
LiGiR [142=3]
What is modulation? Why is modulation needed to send a message - w‘"
signal? el
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WUE -7 / (Section-D)
U99-23 994 & faeney : - )

Ad F faw wan 141 F faenfen =1 dfers wmm 29
ST, A @ Ty s g w6 g § w6, fafire
m;3:|28 SR F Ao e % W fozm e fE e
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(i) 93 frg fagi@ ur &l e 7o
(i) werEd sn AfT3 & qrEm arT w2 A et
(rif) B dM fuss wEien werd 50 wEfiE 21 geer o e

EAIE L [1+201=4)
The teacher of Sanjay’s school took the students of Class- X1 o
NTPC, Korba for an cducational tour. Presently power generation
from coal and gas is done by NTPC Limited with an installed
capacity of 43128 megawatt. NTPC Limited s the largest company
in the country. Sccing the device Sanjay asked to his teacher about
the device. The teacher said that an alternating current generator 18
a device which converts mechanical cnergy imto alternating current.
Sanjay listened carefully to the teacher and asked guestions about
alternating current generator. https://www.cgboardonline.com
(/)  On what principle does the generator work'
(ii) Write the names of main parts of an alternating current generator.
(iif) Mention two values displayed by Sanjay and the teacher each.

3Har/OR

it ¥ faenera & o farnfefi @61 iftrs ywor ¥ Wiat @ie W& T
fyreas 3 =arn foh yerardt oy % w9 o foregd St &1 9o onal i 9
weti A fom o 1 39 AU gfeeidR &1 3uam femn S ¥ Ui 3
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The teacher of I)hccraj's school took the students to the Bowe
Al L] r

or an ¢ducation; ) _
plant lor an cducational 1our The teacher said that in the form f
0

alternating current, the o . _
alternating the trangmission of electric energy is done in citics
or such long distanceg T . . _
for sucl & Ces. Transformer is used for this transmission
- N I ]“tL"lL‘[i L.:' . .
Dheeray | "etully to the teacher and asked questions about
transformer.

(1) On whatprinciple doeg (e transformer work?

1) Write two differencac
t”} (% L L ]-Lrl.nl.k--\ hctwccn stcp_up and Slcp_d()wn lransforrner

) Moenu 'O Valiee 1
(7ir) Mention two valyes displayed by Dheeraj and the teacher cach.

WUE-3 / (Section-E)

¥-24 Wmﬁm%mmiwéﬂ
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Derive the formula for refraction of light through any spherical surface

|1-l_51 |

R Vooou

where symbols have their usual meaning.

Hear /OR

Hqa eyt #1 fao s wiawt A s & fau e Fm ifae—
(i) i sifaq wafama we gfe #:1FT0H g0 9w,
(iiy <& sifem wfafaea sFa @ a |

Find the expression for the magnifying power by drawing the ray

[4+1=5]

diagram of compound microscope-
(i)  when the final image is formed at least distance of distinct vision;

(i) when the final image is formed at infinity.
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M8 W3 fafa ad seed warrm @ s A st T
HI Tl g W foregm s @61 A @ A = AU [1-4=5]
Write Gauss theorem and by using this theorem derive an expression
for intensity of electric field at any point due to uniformly charged

infinite plane sheet.
AT/ OR
qufa f68 sza €2 fodl gom w12 dafra F1 wife & feg 0o
g Hifaw | Gt w1 & 29am f&fEe (1+3+1=5]

What is capacitor? Derive an expression for the capacity of paraliel

plate capacitor. Write down one application of capacitor.

wHrR F1 sfdy fam fafee a9 @ geme 2 @ vrmEE
fAIfTT & 3T Frad &9 H1 ATHA F AAF HeqA HITAC [1+4=5]
Write Ampere’s circuital law and by using this law derive the
expression for intensity of magnetic field inside a current-carrying

solenoid.
3rerar /OR
9 Fvee! YE F 9v[ f fag s & A #fee . [2+3=5]
() mifea @R
(i) fagia

Explain moving coil galvanometer on the following points

() Labelled diagram
(#)) Pnnciple
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